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GEOGRAPHY

( General )

Course : 501

( Bconomic Geography)

FuU Marks: 48

Pass Marks: 19'

Time: 2 hours

The figures in the margin indicate JuU marks
for the questions

1. ̂ 3514 ^ : 1x6=6

Answer the following questions as directed :

(a) I

( ^ ̂ )

Coal is a resovuce.

(Fill in the blank)

(b) T'a'R 'IR I

Name two mineral resources of Assam.
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( 2 )

(c) Tisco^ I

Write the full form of TISCO.

(d) ̂  aiHt? fS(«(pni% / 1^^ /
'55fSpffl^ ̂  ̂ I

(  ̂  ̂«?IT )

Rubber is cultivated mostly in
Mediterranean / equatorial / monsoon
climatic region.

( Choose the correct answer)

(e) ^f^JI / *fPl5'RW / ^«il^ I
( m RIR ̂ >8^ )

Tatanagar is located in Orissa / West.
Bengal / Jharkhand.

( Choose the correct answer)

(f)

( ^ )

Major portion of the exported iron ore
from India goes to the USA / Germany /
Japan.

( Choose the correct answer)
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2. Ritl 2iaC<M'4 Rill (al^ClJl 120 1«V9^«) :
5x2=10

Answ^er the following questions (within 120
words each) :

(a)

^

1^ 1

Write a brief note on the economic

activities of the people of the hilly
regions of North-East India.

(b) "BR. 1^«R 1^5. (j5m I

Write a short note on the distribution of

tea in the world.

Answer the questions of Unit—I and II
within 250 words

UNIT—I

(Introduction to Economic Geography )

3. ar^f^
sn^f^ TRopR I 2+6=8

What are natural resources? Explain the role
of natural resources on the economic growth
of a nation.
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( 4 )

2f«15 C*1»P, «llc«llo*(l ̂  I

Diiscuss the impact of geographical
environment on the economic activily of man
citing suitable examples.

"smi/ Or

^5?|olR ̂ ^5^ ^ I

Discuss the distribution of coal in the world.

UNIT—II

(Industries )

5. C4IHI C^IT-^NT «ct)lt lf$ 2J^I?I

^«I %T I 5+3=8

Discuss the factors that affect the location of
iron and steel industry in a region. Give an
account of this industry in India.

WW/ Or

I  ̂SIPIR (TfT^ (SRI

ispnt ̂Sfl^ ISRRR R*(C^ 1^ I 6+2=8

Give an account of the distribution of cotton

textile industry in India. Write in brief about
some of the problems and prospects of this
sector in our country.
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( 5 )

CTl^ ̂SpR1^^5p!p5p5 ̂ 51^ C^RK
^ I 3+5=8

What are the necessary geographical
conditions for rice cultivation? Describe the

reasons for the high production of rice in
monsoon climatic regions of Asia.

★ ★★
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